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Question Number : 1 Question Id : 8247244467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per contemporary perspectives, the course of child development is -

Options :

1. uniform across children and specific milestones are definitely achieved by all children as they
reach a certain age.

2. multi directional since children grow up in varying contexts.

3. completely unpredictable even though development is uni-directional for all.

4. determined solely by hereditary information received from parents.

Question Number : 1 Question Id : 8247244467 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 2 Question Id : 8247244468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

principle of development states that development of motor skills start from

centre of the body and proceeds towards the extremities.
Options :

1. Spiral

2. Specificity

3. Proximodistal

4. Cephalocaudal

Question Number : 2 Question Id : 8247244468 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 3 Question Id : 8247244469 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

At which stage of development do children actively engage in make believe play?
Options :

1. Infancy

2. Early childhood

3. Middle childhood

4. Adolescence

Question Number : 3 Question Id : 8247244469 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 4 Question Id : 8247244470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following are secondary agencies of socialization?



i) Family
i) Media
iii) Religious institutions

iv) School
Options:
1. (i) (ii) (iv)
2. (i) (iii) (iv)
3. (ii) (iii) (iv)
4. (i) (iv)

Question Number : 4 Question Id : 8247244470 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
T O o T S o THTSRT i TEa 9 ey 27
(i) uiEwR
(i) e
(iii) =miHer weed
(iv) Toamem
Options :
(0, (i), (iv)

5 (1), (iii), (iv)
5 (1), (i), (1v)

4 (1), (1v)



Question Number : 5 Question Id : 8247244471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ruhi is shown three pencils and she observes that pencil A is longer than pencil B and pencil B is
longer than pencil C. When Ruhi infers that A is longer pencil than C, which characteristic of Jean

Piaget’s cognitive development is she demonstrating?
Options :

1. Seriation

2. Conservation

3. Transitive thought

4. Hypothetico - deductive reasoning

Question Number : 5 Question Id : 8247244471 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 6 Question Id : 8247244472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

According to Jean Piaget's theory of cognitive development, children in the operational stage are

capable of -

Options :

1. Reversibility

2. Hypothetico - deductive reasoning
3. Abstract thinking

4. Propositional reasoning

Question Number : 6 Question Id : 8247244472 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 7 Question Id : 8247244473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following stage is NOT proposed by Lawrence Kohlberg in his theory of Moral

reasoning?
Options :

1. Conventional stage



2. Unconventional stage
3. Post Conventional stage

4. Pre Conventional stage

Question Number : 7 Question Id : 8247244473 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 8 Question Id : 8247244474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher wants to design the teaching - learning processes in her classroom on Lev-Vygotsky's

social constructivism principles.

Which of the following should she avoid?

Options :

1. Designing teaching - learning experiences based in social contexts.
2. Closely observing the students attempts of learning.

3. Use of formal standardised tests to assess learning.

4. Providing scaffolding when needed.



Question Number : 8 Question Id : 8247244474 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 9 Question Id : 8247244475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To facilitate student’s learning, which of the following is suggested by Lev Vygotsky's in his theory

of social constructivism?

Options :

1. Peer Collaboration

2. Non-interference of cultural tools
3. Focus on Rote memorization

4. Decontextualized curriculum

Question Number : 9 Question Id : 8247244475 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 10 Question Id : 8247244476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A teacher in a progressive classroom should believe that -

Options:

1. Class should always be in strict control and only teacher should dictate instruction.
2. Learning takes place only in the classroom.

3. Learners bring a rich variety of experiences with them in the classroom.

4. Learners learn most meaningfully only through drill and practice.

Question Number : 10 Question Id : 8247244476 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 11 Question Id : 8247244477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following theorist dismissed that intelligence is unitary and proposed that there exist

several distinct independent intelligences?
Options :

1. Jean Piaget

2. Howard Gardner

3. Lev Vygotsky

4. Lawrence Kohlberg

Question Number : 11 Question Id : 8247244477 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 12 Question Id : 8247244478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Rohan'’s response on receiving a toy doll was, T don't like this toy because boys do not play with

dolls'. This is an example of-
Options :

1. Gender relevance

2. Gender discrimination

3. Gender stereotype

4. Gender stability

Question Number : 12 Question Id : 8247244478 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 13 Question Id : 8247244479 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher facilitates and support her students to work on multiple drafts for an essay over a period
of one month. If she consider all the drafts of each student as well as the process of working on

the same, what kind of assessment is she using?
Options :

1. Summative

2. Norm-referenced

3. Formative

4. Standardized

Question Number : 13 Question Id : 8247244479 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 14 Question Id : 8247244480 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



In a multi-lingual classroom, a teacher should -

Options:

1. Discourage the use of native language for communication.

2. Recognize only the predominant language that is used by majority students.

3. Create awareness about diversity of languages and allow their use as per student’s preference.

4. Discourage the use of languages other than one target language such as English.

Question Number : 14 Question Id : 8247244480 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 15 Question Id : 8247244481 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

As per National education policy 2020, education must-
(i) Be focused only on predetermined content

(ii) Focus on problem solving.



(iii)Develop critical thinking among learners.

(iv) Be inquiry driven and discovery -oriented.
Options :

1. (i) (iii) (iv)

2. (i) (i) (iii)

3. (i) (i) (iv)

4. (i) (ii) (iii) (iv)

Question Number : 15 Question Id : 8247244481 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 16 Question Id : 8247244482 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In order to complete her syllabus, a teacher always expects answers from a preferred group of

leaners.

The teacher’s action is:

Options :

1. is justified for completing the syllabus.

2. is showing that the teacher has good skills to identify best students of her class.
3. is depriving other students of equal opportunity.

4. would be effective in ensuring equal participation of all students.

Question Number : 16 Question Id : 8247244482 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 17 Question Id : 8247244483 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To support inclusion of student having Dyscalculia, it is important to:



Options :

1. set strict time constraints to finish task.

2. provide visual calculators and math apps to student.

3. include additional content to over shadow relevant in text context.

4. use only standardized ways for assessing student’s learning.

Question Number : 17 Question Id : 8247244483 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 18 Question Id : 8247244484 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following materials will NOT be beneficial for a student with visual impairment?
Options :

1. Tactile globe

2. Books with small print

3. Screen reading software

4. Braille books



Question Number : 18 Question Id : 8247244484 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 19 Question Id : 8247244485 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): In a language classroom, teacher should provide audio books along with text

materials.

Reason (R): Multiple options of representation cater to needs of diverse learners such as those

with reading related disorders.

Choose the correct option.

Options :

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true and (R) is false.

4. Both (A) and (R) are false.



Question Number : 19 Question Id : 8247244485 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 20 Question Id : 8247244486 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A creative child is likely to have:

(i) Divergent thinking

(i) Convergent thinking

(iiif) Ability for abstract thinking

(iv) Ability for generating novel products.

Options:



1.(i), (ii) (iii)
2. (i) (ii) (iv)

3. (i) (iii) (iv)
4. (ii) (iii) (iv)

Question Number : 20 Question Id : 8247244486 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 21 Question Id : 8247244487 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Assertion (A): Teacher should employ multiple ways of assessment in their classroom.

Reason (R): Children success and failure in classroom cannot be accurately and adequately

determined only by a paper - pencil test.



Choose the correct option.

Options:

1. Both (A) and (R) are true and (R) is the correct explanation of (A).

2. Both (A) and (R) are true but (R) is not the correct explanation of (A).
3. (A) is true and (R) is false.

4. Both (A) and (R) are false.

Question Number : 21 Question Id : 8247244487 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 22 Question Id : 8247244488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

To teach a concept, a teacher is giving multiple examples and subsequently ask students to form a
rule considering the information gathered through those examples. Which of the following

approach is being used here for concept formation among children?

Options:



1. Deductive
2. Inductive
3. Imitative

4. Competitive

Question Number : 22 Question Id : 8247244488 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 23 Question Id : 8247244489 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

To gain cooperation of students in classroom management, a teacher should:
Options :

1. establish strict and rigid classroom rules herself.

2. frequently complain to parents about student’s misbehaviour.

3. reprimand the students for not following the rules.

4. establish norms and rules for classroom in collaboration with students.



Question Number : 23 Question Id : 8247244489 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

e e = Tt it SEeTivaT 2 U STET0e w1 4 FAT Aen?

Options:

| A E IR AR T2 T w7 i

, %ﬂTﬁnrmEmaﬁwq ATITIFT © TR T

3. HTIEST 3T UTeTT 7 3 T feramtoat st seemm

4, TTUEET IR 5aT ot Tuiue e 9o faentaar i geamnrean

Question Number : 24 Question Id : 8247244490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Choose the option that correctly represents the context(s) in which learning takes place in

children.
(i) Games and play
(ii) Home

(iii) Classrooms
Options :

1. (i) (iii)

2. (ii) (iii)

3. (i) (i) (iii)

4. (iii)



Question Number : 24 Question Id : 8247244490 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 25 Question Id : 8247244491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT an effective way to facilitate problem solving skills among students?
Options :

1. Facilitate discussion on the topics and encourage students for participation.

2. Encourage students to brainstorm and generate ideas to solve problems.

3. Provide students with a variety of learning materials to find solution of the problem.

4. Emphasize one use of predetermined step by step procedure for every problem.

Question Number : 25 Question Id : 8247244491 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Question Number : 26 Question Id : 8247244492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of these is characteristic of a constructivist classroom?
Options :

1. Learners are passive in the process of learning.

2. Maximum emphasis is given on rote memorization of the textbook.
3. Asking of questions by children is not encouraged in the classroom.

4. The previous experiences of children are used for construction of new knowledge in the

classroom.

Question Number : 26 Question Id : 8247244492 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 27 Question Id : 8247244493 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following belief of a teacher is detrimental to student’s learning?
Options:

1. Errors are a part of the process of learning.

2. Making errors is a shameful act for the learners

3. Errors provide insight in to the gaps in the conceptual understanding of the learner.

4. Learners must be given the space to make errors without fear of being reprimanded.

Question Number : 27 Question Id : 8247244493 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 28 Question Id : 8247244494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an example of extrinsic motivation?

Options :

1. While doing research, Arman consults various sources to be sure about his learnings.
2. Rayon researches from many sources for a project to get a cash prize.

3. To ensure self-satisfaction, Sitara takes regular feedback from her seniors.

4. For personal interest and to improve his capabilities, Kulmeet practices the task regularly.

Question Number : 28 Question Id : 8247244494 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 29 Question Id : 8247244495 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

During the Covid'19 Pandemic has negatively affected the performance of students in

examination. Which of the following relationship is highlighted in this statement?
Options :

1. Competition and Cognition

2. Cognition and Emotions

3. Heredity and performance

4. Heredity and Environment

Question Number : 29 Question Id : 8247244495 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 30 Question Id : 8247244496 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
Learning is more meaningful and effective when it is majorly-

Options :



1. Teacher directed
2. Directed by peers
3. Textbook centric

4. Self-directed

Question Number : 30 Question Id : 8247244496 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

| TorerfRefm

; ST T e

4. T-ERE

Mathematics
Section Id : 824724128
Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30

Enable Mark as Answered Mark for Review and Yes



Clear Response:

Sub-Section Number : 1
Sub-Section Id : 824724244
Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 8247244497 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The table shows the marks obtained of three students before and after studying mathematics in a group.

Name Marks obtained Marks obtained affer
before studying in studying in group (out
group (out of 100) | of 100)

Mansi 67 79
Harman 54 60
Faisal 63 74

Which is the approximate average marks obtained by all the three students together in each type of study?
Options :

1 73.2,64.77

5 71,6133

3, 64.77,73.2

4 61.33,71

Question Number : 31 Question Id : 8247244497 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

, 73.2,64.77

11,:61.33

5 64.77,732

4 61.33,71

Question Number : 32 Question Id : 8247244498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following groups of letters have both horizontal and vertical lines of symmetry?
Options :

1. CXT

2 X,H.O

3, X Y.Z

4 ABC



Question Number : 32 Question Id : 8247244498 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1 R < |
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Question Number : 33 Question Id : 8247244499 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Rakesh and Sania are discussing with each other. Rakesh says ‘The radius is double of the diameter’ and Sania says ‘It
is half of the diameter’.
Which of the following is the correct option?

Options:
1. Rakesh is correct and Sania is wrong
5 Sania is correct and Rakesh is wrong

3 Both are wrong because radius and diameter are equal

4 Both are wrong because there is no relationship between radius and diameter



Question Number : 33 Question Id : 8247244499 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 8247244500 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Areeba finds angles in various English letters and numerical digits. In which of the following groups she will only find
right angles?

Options:
1. BT
7 X.4.N

3 H5E

4 M.3.L

Question Number : 34 Question Id : 8247244500 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 35 Question Id : 8247244501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The factors of any numbers are the number.
Options :

1. Equal to or less than

- Equal to or greater than

3 Equalto

4. Less than

Question Number : 35 Question Id : 8247244501 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 36 Question Id : 8247244502 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Venu found his birth certificate while cleaning the home on 25th September 2021. He noted that the date of birth in the
certificate was written as 5™ December 1095, What was Vemu's approximate age when he found the certificate?

Options :

1. 24 years 11 months.
: 1

25 years 9 = months
: 1

25 years 3 = months

4. 26 years 3 months

Question Number : 36 Question Id : 8247244502 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247244503 Question Type : MCQ Option Shuffling : Yes Is

The height of five persons is given below:

163 cm, 161 ¢m, 156 cm., 159 cm, 162 cm
What is the sum of height in meters?

Options :

1. Tm 10 cm

2. 8m1lcm

3, em10cm

4, 9m1lcm

Question Number : 37 Question Id

: 8247244503 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

OT=T SARAT T a2l 4= &1 778 2
161 ecm, 161 cm, 156 ¢cm. 159 cm, 162 cm
T SETEAT T I 1T F 4T 27

Options :

1. 7m 10 cm

2 8m1lcm

3. 8mI0cm

4 9mlcm

Question Number : 38 Question Id : 8247244504 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

1729 is called the Ramanujan number because it is the smallest number expressible as the sum of two cubes in two
different ways. Which of the following pairs of numbers will give cubes of this numbers?

Options :
_ (1, 12) and (9. &)

1
, (1,12)and (10,9)

3. (2, 11) and (10.9)

4 (2.11)and (9.8)

Question Number : 38 Question Id : 8247244504 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:

. (1,12) 3R (9, 8)

(1, 12) #R (10, 9)

2
5 2 11) 2T (10, 9)
N (2. 11) 3R (9. 8)

Question Number : 39 Question Id

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

: 8247244505 Question Type : MCQ Option Shuffling : Yes Is

Three friends receive message on their mobile phones at an interval of 20 minutes, 30 minutes and 43 minutes
respectively. They start receiving message together at a particular time. After how much time will they receive message

again on their mobile phone altogether?
Options:

1. 1.5 hours

2. 2 hours

3. 2.5 hours

4. 3 hours

Question Number : 39 Question Id

: 8247244505 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:

1 1.5

, 27

Question Number : 40 Question Id : 8247244506 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Amongst the following fractions, the largest and the smallest fractions, respectively are:

361245

4'7'2'3'5'6
Options :
6

g oand-
1. 7 2

|
=
=9
[

B
T

B
T



Question Number : 40 Question Id : 8247244506 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Question Number : 41 Question Id : 8247244507 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Observe the pattern and write the numbers at

1+3 =4

i+trsy =49

1+3+34+7T = 1§

1+3+E5+7+8 =25

1+3 +5+7+9+11+13+15+17 =
Options



3. &1

4. 100

Question Number : 41 Question Id : 8247244507 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
U2 FT SET qUT T T fAfE
1+3=4
l+34+5=9
1+3+5+7=16
1+3+5+7+9=25
@bl R RS Ipld=
Options :
1. 36

4. 100

Question Number : 42 Question Id : 8247244508 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



The rates of various Stationery items are given below :

A packet of pencils - 32200
A packet of pen - 33750
One eraser - 1350
One sharpener - 1450
Apacket of pastel sheets -  43.00
One ruler - 21000

Harpreet buys one packet of pencil, two packets of pens, three erasers, one sharpener, two packets of pastel sheets and
one ruler. How much would he be required to pay?

Options :
1. T218.00
2. ¥236.50

3 %185.00

4. 319350

Question Number : 42 Question Id : 8247244508 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1. X218.00

5> 3236.50
3. Z185.00

4. 2193.50

Question Number : 43 Question Id : 8247244509 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

What will be the remainder when 10011 is divided by 1017
Options :

1. 9



Question Number : 43 Question Id : 8247244509 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
10011 3T 101 § 7T 35 WX 7 ST T7H ST

Options :
1.9

4. 13

Question Number : 44 Question Id : 8247244510 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Select the least number which is a perfect square and divisible by each of the numbers 16. 20 and 24
Options :

1. 1600

2. 3600

3. 6400

4. 14400



Question Number : 44 Question Id : 8247244510 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e I TG ST, S U QU 2 ST S S 16, 20 S 24 F A AT 2 —

Options :
1. 1600
2. 3600

3. 6400

4. 14400

Question Number : 45 Question Id : 8247244511 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The product of the place values of two sixes in 786364 is
Options :

1. 36

2. 36000

3. 360000

4. 6060

Question Number : 45 Question Id : 8247244511 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
786364 T T ©: o TG HHT 3T TR .

Options :
7. 36

5 36000
3. 360000

4. 6060

Question Number : 46 Question Id : 8247244512 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher posed the following question to her class:
“Take four digits 7.8.4.6. Make the smallest and the largest four-digit number such that no digit is repeated in them.”

After the various responses of the students, she asked the students, “Think about the arrangement of the digits in both
the numbers you have formed. Can you say how the largest and the smallest number is formed? Write down your

procedure.”
Which of the following statements is most appropriate in the above context?

Options :
1. The teacher is saving her time of assessing the students by asking the students to assess their answers themselves.

- The teacher is keeping the students engaged to maintain discipline in the class.
3. The teacher wants to understand the students’ thinking process involved in the answers given by them.

4 The teacher is confusing the students who have given the correct answer so that they check their answers again.

Question Number : 46 Question Id : 8247244512 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 47 Question Id : 8247244513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT used for Formative Assessment?
Options :
1. Student Portfolios

2. Anecdotal Records

3. Term-End Examination



4. Field Trips

Question Number : 47 Question Id : 8247244513 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 48 Question Id : 8247244514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher posed the following word problem to his students:
“One copy of a newspaper has 12 pages. Everyday 10,500 copies are prinfed. How many total pages are printed every
day?

A student responded that the answer would be between 1.25,000 - 1.30,00.
Which of the following statements is correct in the above context?

Options :

1. The teacher should discourage the student from giving inaccurate answers

Estimation is used in daily life mathematics hence the teacher should appreciate the student’s estimation of answer to
5 lear aceuracy



3. The teacher should ignore the response of the student and focus on teaching the algorithm of multiplication

4 Mathematics require exact answers so estimation has no relevance in mathematics

Question Number : 48 Question Id : 8247244514 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 8247244515 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



According to National Curriculum Framework, NCF (2005), which of the following represents a vision of ‘classroom
environment for doing mathematics’?

(2) Students working in groups and looking for different strategies to solve a problem while making connections with
real - life situations

(b) Students solving textbook exercises based on example solved by teacher

(c) Teacher reflecting on the process of learning and seging mistakes as opportunities for learing

(d) Students copying the solution of questions from the backboard.,

Choose the correct option.

Options :

. (2)and (b)
, (b)and (d)
3. (a)and (c)

4. (¢)and (d)

Question Number : 49 Question Id : 8247244515 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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3. a3ﬁTC

4. CaﬁTd

Question Number : 50 Question Id : 8247244516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary school mathematics teacher wants her students to appreciate the use of Data Handling in daily life for
organising, representing and intetpreting the information. Which of the following would help the teacher to achieve the
learning outcome?

Options :

1 Discussing solved examples from the textbooks
o Using various railway time — tables, surveys published in newspapers etc.
3 Explaining various ways of data representation

4. Teaching them various formal ways of representing the data.

Question Number : 50 Question Id : 8247244516 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 8247244517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following strategies is most appropriate to infroduce the concept of fractions in primary classes?
Options :

1. Writing the fraction in the form of p/q where q # 0 on the blackboard and explaining the symbols
5 Writing an example of fraction and then marking a point on the number line to represent the fraction
3, Using paper folding activities with symmetrical cut outs of circles and rectangular strips to represent fractions

4. Giving two examples of a fraction and asking the students to write ten similar examples of fractions in their notebooks

Question Number : 51 Question Id : 8247244517 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 8247244518 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Mathematics has its own language of words and symbols which is far removed from the everyday speech of the
students.” Which of the following is most appropriate in the context of given statement?

Options :

1. Teacher should help students memorise the vocabulary and symbols used in mathematics.
5 Teacher should contextualise the mathematics problems and make mathematics a part of student’s life experiences.

Teacher should focus only on solving word problems in mathematics to help students learn the language of
3. mathematics.

4 Teacher should display the chart of important mathematical symbols and formula in the classroom

Question Number : 52 Question Id : 8247244518 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 8247244519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Aclass V student is able to classify two-dimensional shapes info categories based on their properties. According to Van-
Hieles theory of geometrical development, she is at level of geomefrical reasoning.

Options :

1 Analysis

2. Axiomatic

3. Recognition

4. Deduction

Question Number : 53 Question Id : 8247244519 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T Tl T 1 T (513 SR 1 7 T 5 e R AT 5 oo o 2 e e

.71 UG I, 3% TP S e TR
Options :

| Taeam



Question Number : 54 Question Id : 8247244520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A primary class mathematics teacher poses the following word problem to his students:

“Samina goes to bed at 10 minutes to 9. Kirti goes to bed 20 minutes later than Samina. What time does Kirti go to
bed?”

One of the students gave 20 as the answer. He explains, “Tt says Kirti goes to bed 20 minutes later, so the answer must
be 20.”

According to Newman, the answer given by the student is an example of;
Options :

1. Comprehension Error

> Reading Error

3. Process Skill Error

4. Careless Error

Question Number : 54 Question Id : 8247244520 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 8247244521 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Curriculum Framework (2005) emphasizes that school mathematics must be activity — oriented. This is
because:

(a) It helps students to develop skills to earn livelihood.
(b) It motivates students to solve meaningful problems in mathematics.

(c) It provides concrete experiences to understand abstract concepts in mathematics.
(d) It provides recreation time to children in primary classes.

Choose the correct option.
Options:
, (0)and (c)

5 (a)and (c)

3, Only (@)



4. (@) and (d)

Question Number : 55 Question Id : 8247244521 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. a3ﬁTd

Question Number : 56 Question Id : 8247244522 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following tool/tools of assessment is/are appropriate for students facing mathematics anxiety?
(a) Norm Referenced Assessments

(b) Cooperative Learning Projects

(c) Summative Assessments

(d) Formative Assessments

Choose the correct option



Options :

1. (@and(c)

, () and (d)

5, Only (¢)

4, (b)and (c)

Question Number : 56 Question Id : 8247244522 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 8247244523 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

In a mathematics classroom, a student counts on his fingers to solve the problems on addition in following ways:

9+3=10,11,12
Which of the following statements is most appropriate regarding the above process used by the student?

Options :

1. This process should be ignored as it is not algorithmic
5 The student is unable to use the commutative law of addition in solving problems on addition.
3. The student should be discouraged to count on fingers as it is not a formal method to solve a problem

4 It is an appropriate algorithm to solve the questions based on addition.

Question Number : 57 Question Id : 8247244523 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 8247244524 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is NOT a problem — solving strategy in mathematics?

Options :

1. Solving Backwards
5 Graphic representation

3. Rote Memorisation

4. Trial and error

Question Number : 58 Question Id : 8247244524 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 8247244525 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A mathematics teacher posed the following question to his students “Write a pair of [ntegers whose sum gives negative
infegers.”
The above question is an example of :-

Options :

1. Open-ended question
5 Closed-ended question
3. Recall based question

4. Multiple choice question

Question Number : 59 Question Id : 8247244525 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 8247244526 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statement :

“In mathematics, from concrete objects we abstract set of Natural Numbers. In this set we include zero and get a set of
Whole Numbers. We include negative numbers in this set to get a set of Integers. To Integers , we add positive and
negative fractions to get a set of Rational Numbers ”

The above statements reflects this :

Options :

1 Linear arrangement of concepts in mathematics.

2. Hierarchical nature of mathematics.

3. Concrete nature of concepts in mathematics.

4. Concepts in mathematics move from abstract to concrete.

Question Number : 60 Question Id : 8247244526 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Environmental Studies

SectionId : 824724129
Section Number : 3

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30

Section Marks : 30

Enable Mark as Answered Mark for Review and

Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724245
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 8247244527 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following animal'’s front teeth keep growing throughout its life?
Options :

1. Cat

2. Squirrel

3. Snake

4. Tiger



Question Number : 61 Question Id : 8247244527 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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Question Number : 62 Question Id : 8247244528 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Identity the most suitable characteristic(s) from the given options about the honeybee
(A) Only the queen bee lays the eggs

(B) The male bees have no special role as worker

(C) All female bee lay the eggs

(D) Worker bees look for food and bring it to the bee hive
Options :

1.A,B&C

2.A&C

3.A,B&D

4. A&D



Question Number : 62 Question Id : 8247244528 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 63 Question Id : 8247244529 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

People who have been living in forest for at least 25 years, have a right over the forest land and

what is grown on it. This act is derived from ?
Options :

1. Right to forest act 2007

2. Indian forest act 1927

3. National forest, 1988

4. Indian forest amendment act, 2019



Question Number : 63 Question Id : 8247244529 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 64 Question Id : 8247244530 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Jhoom farming is

Options :

1. organic farming

2. slash and burn farming

3. limited use of pesticides

4. limited use of Chemical fertilizer

Question Number : 64 Question Id : 8247244530 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 65 Question Id : 8247244531 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Roland Ross received Nobel Prize in medicine in 1902 for discovering that
Options :

1. Dengue is transmitted by mosquito

2. Malaria is transmitted by mosquito

3. Chikungunya is transmitted by mosquito

4. Plague is transmitted by fleas

Question Number : 65 Question Id : 8247244531 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

T o

TS 9 & 1902&%%%%&3?%#‘@?3&%{ Ve 7 o 17T T

Options :

1 %I\H‘E‘E‘rtﬁ'b‘:hﬂﬁl 2

~

o Y 2
5 HARIT H=aL | FeAdT §

~ [ Y e
3 IEM':"H\LI'H-II J-i":‘i-_‘}t'a' oA | %’




Question Number : 66 Question Id : 8247244532 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following part of cinchona tree is used to treat malaria ?
Options :

1. Root

2. Bark

3. Leaves

4. Seed

Question Number : 66 Question Id : 8247244532 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 67 Question Id : 8247244533 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Poisonous teeth of snakes are called
Options:

1. Pangs

2. Fangs

3. Incisors

4. scales

Question Number : 67 Question Id : 8247244533 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 68 Question Id : 8247244534 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following is a non-poisonous snake found in India

Options :
1. Russell's viper
2. Saw-scaled viper

3. Indian Rock Python



4. Common Krait

Question Number : 68 Question Id : 8247244534 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 69 Question Id : 8247244535 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Vermi-composting is a method of composting that uses :
Options :

1. Tapeworm

2. Leeches

3. Earthworm

4. Hookworm

Question Number : 69 Question Id : 8247244535 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 70 Question Id : 8247244536 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Pashmina variety of wool is obtained from which animal ?
Options :

1. Sheep

2. Camel

3. Goat

4. Alpaca

Question Number : 70 Question Id : 8247244536 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

TITHT 35 fore sTar © et 29

Options:



Question Number : 71 Question Id : 8247244537 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Incomplete burning of Fossils fuel emits -
Options :

1.CO

2.COy

3.50;

4.NO

Question Number : 71 Question Id : 8247244537 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 72 Question Id : 8247244538 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A technique of watering plants by making use of narrow tubing which delivers water directly at the

base of the plant is called
Options :

1. Nano- irrigation

2. Micro-irrigation

3. Femto-irrigation

4. Drip-irrigation

Question Number : 72 Question Id : 8247244538 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 73 Question Id : 8247244539 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following plants traps and eats insects?



Options :

1. Cuscuta plant
2. Sunflower plant
3. Cactus plant

4. Pitcher plant

Question Number : 73 Question Id : 8247244539 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 74 Question Id : 8247244540 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
Collection of rain water for future use is called
Options :

1. Rain water collection

2. Rain water pumping

3. Rain digging

4. Rain water harvesting



Question Number : 74 Question Id : 8247244540 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 75 Question Id : 8247244541 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Which of the following diseases is spread by mosquitoes ?
(A) Malaria

(B) Pneumonia

(C) Dengue

(D) Chikungunya
Options :
1.AandC
2.B,CandD

3.A,Cand D



4. Aonly

Question Number : 75 Question Id : 8247244541 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 76 Question Id : 8247244542 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Child - centred classrooms ensure conducive environment for students to learn. Which of the

following suggests the same ?
Options :
1. Teacher gives instructions and expects students to obey and be disciplined

2. Teacher reads the textbook, write questions and answers on the blackboard and asks students

to copy them

3. Teacher provides learning situations that give students an opportunity to observe, explore,



question, experience and develop an understanding of various concepts

4. Teacher controls what happens in the classroom and students' participation is minimal

Question Number : 76 Question Id : 8247244542 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 77 Question Id : 8247244543 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

In class V chapter 'Across the wall' a teacher Arif allows students to share experiences of sports

they play. Which of the following best explains his attempts ?
Options :

1. Develop an understanding of sports rule

2. Develop values related to sports

3. Develop an understanding of issues like similar games for boys and girls , equal opportunities

for all and team spirit

4. Develop ability to share personal experience



Question Number : 77 Question Id : 8247244543 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 78 Question Id : 8247244544 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is the most suitable to transact EVS in primary classrooms ?
Options :

1. Lecture method

2. Chalk and talk method

3. Inquiry based Teaching

4. Jug and mug approach

Question Number : 78 Question Id : 8247244544 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 79 Question Id : 8247244545 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Field visits are important in EVS teaching. Which of the following is true for such visits ?
Options :

1. Going to a place near the school with pre-planning and follow - up activity

2. Going to a distant and well - known place

3. Going to a near by place

4. Going to a place of your choice

Question Number : 79 Question Id : 8247244545 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 80 Question Id : 8247244546 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

An EVS classroom should be a happy classroom. Which one of the following statement is true in

this regard ?

Options :

1. Teacher remains happy in the class and students follow her instructions happily
2. Administer strict discipline so that they remain focused in written works

3. Observe, explore ask questions and do activities

4. Ensure that they read the book and underline the text for better comprehension

Question Number : 80 Question Id : 8247244546 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Question Number : 81 Question Id : 8247244547 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Family tree is a useful tool for developing analytical thinking among children
Options :

1. It is about joint family and their relationships

2. It is only about the immediate family members

3. It is only about the grandparents of the family and their relationships between the other family

members

4. It pertains to relationships between members of the family across several generations

Question Number : 81 Question Id : 8247244547 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 82 Question Id : 8247244548 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
Indicator for assessment in EVS is
Options:

1. Discussing

2. Recalling

3. Stating

4. Listing

Question Number : 82 Question Id : 8247244548 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 83 Question Id : 8247244549 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Under the theme 'mapping' for class III , which activity would be the most appropriate for

students ?
Options :
1. Ask them to draw a sketch of their house

2. Ask them to draw the route from their home to the school



3. Ask them to draw a diagram of their classroom

4. Ask them to draw a sketch of their neighbourhood

Question Number : 83 Question Id : 8247244549 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 84 Question Id : 8247244550 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

A teacher has to teach the sub-theme 'Animals' to class I students. Which of the following strategy

is more appropriate to transact this theme to the learner

Options :

1. Asks students to list out names of animals

2. Tell names of animals to the students

3. Takes students on a trip to the zoo to give them concrete experience

4. Shows coloured photographs of a variety of animals to give them understanding about animals

Question Number : 84 Question Id : 8247244550 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 85 Question Id : 8247244551 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dr . Beaumont's experiments helps students in understanding the role of a scientist. Arrange the

steps given below of scientific method in a proper sequence
1. Record results and draw conclusions

2. Propose a hypothesis

3. Ask a question

4. Test the Predictions

5. Make Predictions

6. Make an observation



Options :

1.1,2,3,4,5,6
2.1,3,25/4,6
3.6,4,5,2,3,1

4.6,3,2,5,4,1

Question Number : 85 Question Id : 8247244551 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
e e i et e e B 4 o s o g
TR AT —
| o i () T A o e
2. e AT
3. EERCAl
4, SV o T
6. Te0T LT

L |

Options :

, 1,2,3,4,5,6
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Question Number : 86 Question Id : 8247244552 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

The best strategy of giving students the experience of biological diversity



Options :

1. Give them books and articles to study about bird species
2. Show them documentaries on migratory birds

3. Take them to a bird sanctuary for observing

4. Giving talks and lectures on endangered birds

Question Number : 86 Question Id : 8247244552 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 87 Question Id : 8247244553 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Aditya is an gifted boy and feels his class teachers should cater to his curiosity. What intervention

is his teacher required to make?
Options :

1. Give extra time to him

2. Being more affectionate to him

3. Give him extra responsibility of leading the class



4. Use some customized material to teach him

Question Number : 87 Question Id : 8247244553 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

oA T e T 1 8 T 2 T SR 9 o i SR o a6 1 3 o v ) 9 e
3 oy AT SRR 70 1 STTee € —

Options:

15U AT T 3

o T T Ted % o0 AT aTierest 31

O

A 39 o0 TS ST TaTeqoT STHET 31 TFT

Question Number : 88 Question Id : 8247244554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which one of the following is a part of environmental studies?
Options :

1. Issues concern of science , social sciences

2. Concepts of environmental "education”

3. Issues concerns of social sciences

4, Issues & concerns of social inequalities

Question Number : 88 Question Id : 8247244554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 89 Question Id : 8247244555 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Dramatization is considered as a good method for teaching - learning of EVS for slow learners.

Which is the most appropriate reason(s) for selecting dramatization for them ?
A. Traditional drama technique make it easy for them to relate to a concept
B. Interactive drama stay with students memory for long

C. Slow learners enjoy acting a lot
Options :

1.A&B

2.A&C

3.B&C

4.A,B&C

Question Number : 89 Question Id : 8247244555 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1 A¥RB

, AJRC

3 B AR C

4 AB,FRC

Question Number : 90 Question Id : 8247244556 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

EVS textbook support students to

Options :

1. memorise the issues & concerns of EVS subject
2. describe the issues and concerns of EVS subject
3. construct knowledge through all issues

4. respond to the issues and concerns of EVS subject

Question Number : 90 Question Id : 8247244556 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Language I
Section Id : 824724130
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724246
Question Shuffling Allowed : Yes

Question Id : 8247244557 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 8247244558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I T He fme 29
1. Ee T S o
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4. qf5-farsr =

Options :

1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247244559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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2. e fafafem w
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4. AW
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247244560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

[

1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247244561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247244562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STATH 3 SR YRR 3 T=H-S8M i Q01 s e
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2. T i AT e E)
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4. 9T 3T AT GiehT B S 2

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247244563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247244564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. TS
4. fafere s
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247244565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Py

1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247244566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
TTfags o & F1=-97 TS890 37 IETe0 27

Options :
1.1
2.2
3.3
4.4

Question Id : 8247244557 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (91 to 99)

Question Label : Comprehension
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Sub questions

Question Number : 91 Question Id : 8247244558 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
I T He fme 29
1. Ee T S o
2. FHIA E=ET
3. T STTE a°T W S |
4. qf5-farsr =

Options :

1.1
2.2
3.3
4.4

Question Number : 92 Question Id : 8247244559 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
FeoTd HIET F UHE 59 9 ggar 29
. EET T
2. e fafafem w
3. e U SR W
4. AW
Options :
1.1
2.2
3.3
4.4

Question Number : 93 Question Id : 8247244560 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
STIETYeR ST e YTEaT § 47 I 8T 27
1. T & =Te ST 71|
. 34X T IfH|
3. 1 @ T 2
4. Toeea vaTd TRR o ey 51 2

Options :

[

1.1
2.2
3.3
4.4

Question Number : 94 Question Id : 8247244561 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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4. & o= ﬂﬁgﬁ TS 7 ToaT =)
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Options :
1.1
2.2
3.3
4.4

Question Number : 95 Question Id : 8247244562 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

STATH 3 SR YRR 3 T=H-S8M i Q01 s e
2| TEiTeRa STEETeT & 47 910 27

2. T i AT e E)

3. Wmﬁuﬁﬁ AT et ST 2

4. 9T 3T AT GiehT B S 2

Options :
1.1
2.2
3.3
4.4

Question Number : 96 Question Id : 8247244563 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1. ST ueTd @ I 18 B 2
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I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 97 Question Id : 8247244564 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

[ - [ oa 3
T FTTEAH I T

. S

]
%7

3. TS
4. fafere s
Options :
1.1
2.2
3.3
4.4

Question Number : 98 Question Id : 8247244565 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

Py

1.1
2.2
3.3
4.4

Question Number : 99 Question Id : 8247244566 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

Ffefas o o Fe-a7 fawwer =1 s 22
i

RO RIEY
2. HAlRKR
3. ¥4
4. AFAT
Options :
1.1
2.2
3.3

4.4
Sub-Section Number : 2
Sub-Section Id : 824724247

Question Shuffling Allowed : Yes

Question Id : 8247244567 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No

Question Numbers : (100 to 105)



Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 8247244568 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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3. ufates = fera= i
4. ug faere w ux fora= i
Options :

1.1



2.2
3.3
4.4

Question Number : 101 Question Id : 8247244569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247244570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
T % T Tl o 27
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2. SV H
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Options :
1.1
2.2
3.3
4.4



Question Number : 103 Question Id : 8247244571 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 104 Question Id : 8247244572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247244573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Id : 8247244567 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (100 to 105)

Question Label : Comprehension
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Sub questions

Question Number : 100 Question Id : 8247244568 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e | forg e1aa it a1 et 7S 20
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2. AT o T T A T
3. U v fomes i
4. v fowe w ux forgs i
Options :
1.1

2.2



3.3
4.4

Question Number : 101 Question Id : 8247244569 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 102 Question Id : 8247244570 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
e o T T Tad 22

I. uar =&

2. SV H

[

3. A H
4. TEEH
Options :
1.1
2.2
3.3
4.4

Question Number : 103 Question Id : 8247244571 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options:
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1.1
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Question Number : 104 Question Id : 8247244572 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 105 Question Id : 8247244573 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724248

Question Shuffling Allowed : Yes

Question Number : 106 Question Id : 8247244574 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 106 Question Id : 8247244574 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247244575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 107 Question Id : 8247244575 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 108 Question Id : 8247244576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3

4.4

Question Number : 108 Question Id : 8247244576 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 109 Question Id : 8247244577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
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3.3
4.4

Question Number : 109 Question Id : 8247244577 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



T B s T e 2

TR R ST SR T I IR T T 3 A A S e | T ] O g AT A g
e T8 ) T A e

. ST T 3T T 25 TR T 3 e 2 e

[}

3, R 1 T 3 6 0 3 A o g e
4. oY S

Options :

1.1

2.2

3.3

4.4

Question Number : 110 Question Id : 8247244578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3

4.4

Question Number : 110 Question Id : 8247244578 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 111 Question Id : 8247244579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 111 Question Id : 8247244579 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Question Number : 112 Question Id : 8247244580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 112 Question Id : 8247244580 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :

1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247244581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 113 Question Id : 8247244581 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



TR, FATAT, “TEH AT AR “TIAH e IaTe0 27
1. TS U0

. Gl

3. ITe% HuaT

4. AT &

I-J

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247244582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0

AT T STEATTS %7 WTST 3 T2 JETET00 3T U2 ]

. ﬁﬁﬁﬁﬁcﬁ%mmﬁdﬁéiwiﬁm

2. THE U % FIT GHI4T [ (GRT 391 & a1e

3 Wdﬁﬁﬁﬂﬁﬁmﬁfﬁmﬁfﬁﬁ%uﬁwlawwﬁ%t

4. ST TN H ST S TE (T SATGH el T 2§60 T 0 A0 (oanaw]

—_—

Options :
1.1
2.2
3.3
4.4

Question Number : 114 Question Id : 8247244582 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247244583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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1.1
2.2
3.3
4.4

Question Number : 115 Question Id : 8247244583 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247244584 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 116 Question Id : 8247244584 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247244585 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No
Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 117 Question Id : 8247244585 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247244586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 118 Question Id : 8247244586 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
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1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247244587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 119 Question Id : 8247244587 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options :
1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247244588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
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1.1
2.2
3.3
4.4

Question Number : 120 Question Id : 8247244588 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
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Options:
1.1
2.2
3.3
4.4

Language II
Section Id : 824724131
Section Number : 5
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 17
Number of Questions to be attempted : 17
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Sub-Section Number : 1
Sub-Section Id : 824724249
Question Shuffling Allowed : Yes

Question Id : 8247244589 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the options out of the
given ones.

Lying in bed, Swami realised with a shudder that it was
Monday morning. It looked as though only a moment ago it had
been the last period on Friday; already Monday was here. He
hoped that an earthquake would reduce the building to dust, but
that school building had withstood similar prayers for over a
hundred year now. At nine o’clock Swaminathan wailed., “I have a
headache.”

“Have you any important lessons today?” His mother asked.

“Important! Bah! That geography teacher has been teaching the
same lesson for over a year now. And we have arithmetic, which
means for a whole period we are going to be beaten by the teacher.”

And mother generously suggested that Swami might stay at home.
Half an hour later, father asked him, “Have you no school today?”
“Headache”, Swami replied. “Dress up and go”. His father said
Swami knew how stubborn his father was, so he changed his
tactics. ‘I can’t go so late to the class.”

“It is your own fault. You should have asked me before deciding
to stay away”, father said.

By the time he was ready, father had composed a long letter to the
headmaster, put it in an envelope and sealed it.

“What have wvou written, father?” Swaminathan asked
apprehensively.

“Nothing for you, Give it to your headmaster and go to your class.
You must bring acknowledgement from him in the evening.”

As he approached the yellow building he felt the bulge of the letter
in his pocket, he felt it like an executioner. For a moment he was
angry with his father and wondered why he should not fling into
the gutter the letter of a man so unreasonable and stubborn.

Sub questions

Question Number : 121 Question Id : 8247244590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swami didn’t want to go to school because

1. he had a headache.

2. he had not done his maths work.

3. he didn’t like going to school.

4. he was afraid of his school principal.



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247244591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school had been in existence for

a decade

a century

half a century

more than a century

Sl et

o

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247244592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) On his way to his school’s red building swami was
very angry with his father.
(b) He wanted the school building to be absolutely
destroyed.
(c) He was sure that his prayers would be answered.

. (a) and (c) are false but (b) is true.
. (a) and (b) are false but (c) is true.
. (b) and (c) are false but (a) is true.
. (a) and (b) are true but (c) is false.

R

I

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247244593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swami’s relation with his father was

1

2. teartul
3. respectful
4. affectionate

Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247244594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Swami was anxious to know what his father had
written in the letter.
(b)He thought about destroying the letter.

(a) is false but (b) is true.
Both (a) and (b) are false.
(a) is true but (b) is false.
Both (a) and (b) are true.

il o

B

Options:
1.1
2.2
3.3



4.4

Question Number : 126 Question Id : 8247244595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘he felt it like an executioner’.
The underlined word is a/an

verb
noun
adverb
adjective

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247244596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swaminathan wailed (para 1). The underlined word means

cried
approved
shouted
gloated

Lokl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247244597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

..... how stubborn his father was. The word stubborn here is
used as a/an

verb
adverb
noun
adjective

o bt

g

Options :
1.1
2.2
3.3
4.4

Question Id : 8247244589 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (121 to 128)

Question Label : Comprehension



Read the passage given below and answer the questions/comp lete
the statements that follow by choosing the options out of the
given ones.

Lying in bed, Swami realised with a shudder that it was
Monday morning. It looked as though only a moment ago it had
been the last period on Friday; already Monday was here. He
hoped that an earthquake would reduce the building to dust, but
that school building had withstood similar prayers for over a
hundred year now. At nine o’clock Swaminathan wailed., “I have a
headache.”

“Have you any important lessons today?” His mother asked.

“Important! Bah! That geography teacher has been teaching the
same lesson for over a year now. And we have arithmetic, which
means for a whole period we are going to be beaten by the teacher.”

And mother generously suggested that Swami might stay at home.
Half an hour later, father asked him, “Have you no school today?”
“Headache”, Swami replied. “Dress up and go”. His father said
Swami knew how stubborn his father was, so he changed his
tactics. ‘I can’t go so late to the class.”

“It is your own fault. You should have asked me before deciding
to stay away”, father said.

By the time he was ready, father had composed a long letter to the
headmaster, put it in an envelope and sealed it.

“What have wvou written, father?” Swaminathan asked
apprehensively.

“Nothing for you, Give it to your headmaster and go to your class.
You must bring acknowledgement from him in the evening.”

As he approached the yellow building he felt the bulge of the letter
in his pocket, he felt it like an executioner. For a moment he was
angry with his father and wondered why he should not fling into
the gutter the letter of a man so unreasonable and stubborn.

Sub questions

Question Number : 121 Question Id : 8247244590 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swami didn’t want to go to school because

1. he had a headache.

2. he had not done his maths work.

3. he didn’t like going to school.

4. he was afraid of his school principal.



Options :
1.1
2.2
3.3
4.4

Question Number : 122 Question Id : 8247244591 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

The school had been in existence for

a decade

a century

half a century

more than a century

Sl et

o

Options :
1.1
2.2
3.3
4.4

Question Number : 123 Question Id : 8247244592 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) On his way to his school’s red building swami was
very angry with his father.
(b) He wanted the school building to be absolutely
destroyed.
(c) He was sure that his prayers would be answered.

. (a) and (c) are false but (b) is true.
. (a) and (b) are false but (c) is true.
. (b) and (c) are false but (a) is true.
. (a) and (b) are true but (c) is false.

R

I

Options :



1.1
2.2
3.3
4.4

Question Number : 124 Question Id : 8247244593 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swami’s relation with his father was

1

2. teartul
3. respectful
4. affectionate

Options:
1.1
2.2
3.3
4.4

Question Number : 125 Question Id : 8247244594 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) Swami was anxious to know what his father had
written in the letter.
(b)He thought about destroying the letter.

(a) is false but (b) is true.
Both (a) and (b) are false.
(a) is true but (b) is false.
Both (a) and (b) are true.

il o

B

Options:
1.1
2.2
3.3



4.4

Question Number : 126 Question Id : 8247244595 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘he felt it like an executioner’.
The underlined word is a/an

verb
noun
adverb
adjective

k] e

-

Options:
1.1
2.2
3.3
4.4

Question Number : 127 Question Id : 8247244596 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Swaminathan wailed (para 1). The underlined word means

cried
approved
shouted
gloated

Lokl e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 128 Question Id : 8247244597 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

..... how stubborn his father was. The word stubborn here is
used as a/an

verb
adverb
noun
adjective

o bt

>

Options :

1.1

2.2

3.3

4.4

Sub-Section Number : 2
Sub-Section Id : 824724250

Question Shuffling Allowed : Yes

Question Id : 8247244598 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the question/comp lete
the statements that follow by choosing the options out of the given
ones.

1. Every morning Ravi gives his brain an extra boost. We're
not talking about drinking strong cups of coftee or playing
one of those mind — training video games advertised all over
the media, “I jump onto my stationary bike and cycle for 45
minute to work, says Ravi. “When I get to my desk, my brain
is at peak activity for a few hours.” After his mental focus
comes to a halt later in the day, he starts it with another
short spell of cycling to be able to run errands.

I

. Ride, work, ride, repeat. It’s a scientifically proven system
that describes some unexpected benefits of cycling. In a
recent study in the ‘Journal of Clinical and Diagnostic
Research’, scientists found that people scored higher on tests
of memory, reasoning and planning after 30 minute of
spinning on a stationary bike than they did before they rode
the bike. They also completed the tests faster after pedalling.

3. Remember: although it’s healthy. exercise itself is a stress,
especially when you’re just getting started or getting back
into riding. When you first begin to exert yourself, your body
releases a particular hormone to raise your heart rate, blood

pressure and blood glucose levels, says Meher Ahluwalia. a
professor of Integrative Physiology. As you get fitter, it
takes a longer, harder ride to trigger the same response.

4. Cycling also elevates your mood, relieves anxiety, increases
stress resistance, and even banishes the blues. “Exercise
works i the same way as psychotherapy and
antidepressants in the treatment of depression, maybe
better,” says Dr. Manjari. A recent study analyzing 26 years
of research finds that even some exercise as little as 20 to 30
minutes a day — can prevent depression over the long term.

Sub questions

Question Number : 129 Question Id : 8247244599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ravi feels that he can work more efficiently after:

drinking strong coffee
taking memory tablets
cycling on a stationary bike
playing video games

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 8247244600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

(a) People believe that the benefits of cycling can be best
achieved by repeating it after every spell of hard
work.

(b)However, there is no scientific proof for the same.

1. (a) is true and (b) is false.
2. (a) is false and (b) is true.
3. (a) and (b) are both true.

(a) and (b) are both false.

s

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 8247244601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



banishes the blue (para 4). The underlined word means the
same as:

sky
azure
thoughts
troubles

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 8247244602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) When vou start exercising, a particular hormone is
released which increase your blood glucose level.
(b) Thus we can say that exercise is not a healthy
options.

(a) is true but (b) is false.
(a) is false but (b) is true.
Both (a) and (b) are true.
Both (a) and (b) are false.

e v

e

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247244603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a benefit of stationary
cycling?

better memory

good reasoning ability
better mental response
steady heart rate

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247244604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘depression’ in para 4 is used as a/an

verb
noun
adverb
adjective

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247244605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘trigger” (para 3) does not mean the same as

start
activate
flashback
set off

W =

i



Options :
1.1
2.2
3.3
4.4

Question Id : 8247244598 Question Type : COMPREHENSION Sub Question Shuffling Allowed :

Yes Group Comprehension Questions : No
Question Numbers : (129 to 135)

Question Label : Comprehension



Read the passage given below and answer the question/comp lete
the statements that follow by choosing the options out of the given
ones.

1. Every morning Ravi gives his brain an extra boost. We're
not talking about drinking strong cups of coftee or playing
one of those mind — training video games advertised all over
the media, “I jump onto my stationary bike and cycle for 45
minute to work, says Ravi. “When I get to my desk, my brain
is at peak activity for a few hours.” After his mental focus
comes to a halt later in the day, he starts it with another
short spell of cycling to be able to run errands.

I

. Ride, work, ride, repeat. It’s a scientifically proven system
that describes some unexpected benefits of cycling. In a
recent study in the ‘Journal of Clinical and Diagnostic
Research’, scientists found that people scored higher on tests
of memory, reasoning and planning after 30 minute of
spinning on a stationary bike than they did before they rode
the bike. They also completed the tests faster after pedalling.

3. Remember: although it’s healthy. exercise itself is a stress,
especially when you’re just getting started or getting back
into riding. When you first begin to exert yourself, your body
releases a particular hormone to raise your heart rate, blood

pressure and blood glucose levels, says Meher Ahluwalia. a
professor of Integrative Physiology. As you get fitter, it
takes a longer, harder ride to trigger the same response.

4. Cycling also elevates your mood, relieves anxiety, increases
stress resistance, and even banishes the blues. “Exercise
works i the same way as psychotherapy and
antidepressants in the treatment of depression, maybe
better,” says Dr. Manjari. A recent study analyzing 26 years
of research finds that even some exercise as little as 20 to 30
minutes a day — can prevent depression over the long term.

Sub questions

Question Number : 129 Question Id : 8247244599 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Ravi feels that he can work more efficiently after:

drinking strong coffee
taking memory tablets
cycling on a stationary bike
playing video games

s vl

e

Options :
1.1
2.2
3.3
4.4

Question Number : 130 Question Id : 8247244600 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:

(a) People believe that the benefits of cycling can be best
achieved by repeating it after every spell of hard
work.

(b)However, there is no scientific proof for the same.

1. (a) is true and (b) is false.
2. (a) is false and (b) is true.
3. (a) and (b) are both true.

(a) and (b) are both false.

s

Options :
1.1
2.2
3.3
4.4

Question Number : 131 Question Id : 8247244601 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



banishes the blue (para 4). The underlined word means the
same as:

sky
azure
thoughts
troubles

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 132 Question Id : 8247244602 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following statements:
(a) When vou start exercising, a particular hormone is
released which increase your blood glucose level.
(b) Thus we can say that exercise is not a healthy
options.

(a) is true but (b) is false.
(a) is false but (b) is true.
Both (a) and (b) are true.
Both (a) and (b) are false.

e v

e

Options :
1.1
2.2
3.3
4.4

Question Number : 133 Question Id : 8247244603 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



Which of the following is NOT a benefit of stationary
cycling?

better memory

good reasoning ability
better mental response
steady heart rate

ol o

>

Options :
1.1
2.2
3.3
4.4

Question Number : 134 Question Id : 8247244604 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘depression’ in para 4 is used as a/an

verb
noun
adverb
adjective

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 135 Question Id : 8247244605 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘trigger” (para 3) does not mean the same as

start
activate
flashback
set off

W =

i



Options :
1.1
2.2
3.3

4.4

Sub-Section Number : 3
Sub-Section Id : 824724251

Question Shuffling Allowed : Yes

Question Number : 136 Question Id : 8247244606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner-centered class

helps teachers make decisions in class and makes them self-reliant.
considers learning to be a responsibility of the teacher.

supports a small number of students, ignoring the majority in the class.
takes into consideration prior knowledge and experiences of the learner.

e v

o

Options:
1.1
2.2
3.3
4.4

Question Number : 136 Question Id : 8247244606 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

A learner-centered class

helps teachers make decisions in class and makes them self-reliant.
considers learning to be a responsibility of the teacher.

supports a small number of students, ignoring the majority in the class.
takes into consideration prior knowledge and experiences of the learner.

et v

o

Options :



1.1
2.2
3.3

4.4

Question Number : 137 Question Id : 8247244607 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0
What is ‘inclusion’ in language education?

1. It includes practical strategies adapted by a teacher to suit
learner needs.

. It includes all aspects of schooling, for instance,
infrastructure, financial resources, constructing school
communities.

3. It refers to incorporating new technology-oriented methods

in a traditional classroom.

4. Tt involves a transformed view of language teaching

incorporating a social or interactive perspective.

[

Options :
1.1
2.2
3.3

4.4
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What is ‘inclusion’ in language education?

1. It includes practical strategies adapted by a teacher to suit
learner needs.

. It includes all aspects of schooling, for instance,
infrastructure, financial resources, constructing school
communities.

3. It refers to incorporating new technology-oriented methods

in a traditional classroom.

4. Tt involves a transformed view of language teaching

incorporating a social or interactive perspective.

I

Options :
1.1
2.2
3.3
4.4

Question Number : 138 Question Id : 8247244608 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Reflection in language teacher education

means conscious, experientially informed thought.

includes aspects of evaluation and problem-solving leading to new insights and understanding.
includes aspects of general cognitive abilities, rote learning and repetition-based practice.

is understanding how routine decision-making informs practice.
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Options :
1.1
2.2
3.3
4.4
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Correct Marks : 1 Wrong Marks : 0



Reflection in language teacher education

means conscious, experientially informed thought.
includes aspects of evaluation and problem-solving leading to new insights and understanding.
includes aspects of general cognitive abilities, rote learning and repetition-based practice.

1s understanding how routine decision-making informs practice.
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Options :
1.1
2.2
3.3
4.4

Question Number : 139 Question Id : 8247244609 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Shoaib used a reading passage to teach past perfect tense. He gave examples, explained the rules to students and
practiced the structures. Students are still not doing well on practice activities. Suggestions for Shoaib are provided
below. Choose the one that does NOT fit.

1. Communicate better with students and help them practice often.

2. Motivate students and provide short explanations addressing learner’s level of knowledge.
3. Bring audio-recordings to class and ask them to listen to if repeatedly.

4. Employ choral drills to teach grammar,

Options :
1.1
2.2
3.3
4.4
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Shoaib used a reading passage to teach past perfect tense. He gave examples, explained the rules to students and
practiced the structures. Students are still not doing well on practice activities. Suggestions for Shoaib are provided
below. Choose the one that does NOT fit.

1. Communicate better with students and help them practice often.

2. Motivate students and provide short explanations addressing leaer’s level of knowledge.
3. Bring audio-recordings to class and ask them to listen to it repeatedLy.

4. Employ choral drills to teach grammar.

Options :
1.1
2.2
3.3
4.4

Question Number : 140 Question Id : 8247244610 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following statements regarding text-based grammar lessons is INCORRECT.

. Text-based grammar lessons help you focus on all uses of a grammar point.
Text-based grammar lessons follow a guided-discovery approach where students find out about the language
themselves.
. While planning text-based grammar lessons, teachers should create texts of their own too.
4. These lessons involve explicit grammar teaching and describe the rules for learners.

b2

Laa

Options :
1.1
2.2
3.3
4.4
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Which of the following statements regarding text-based grammar lessons is INCORRECT.

. Text-based grammar lessons help you focus on all uses of a grammar point.
Text-based grammar lessons follow a guided-discovery approach where students find out about the language
themselves.
. While planning text-based grammar lessons, teachers should create texts of their own too.
4. These lessons involve explicit grammar teaching and describe the rules for learners.

b2

Laa

Options :
1.1
2.2
3.3
4.4

Question Number : 141 Question Id : 8247244611 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is NOT a concept from language education?

critical period hypothesis
comprehensible input
brain lesion and control
positive reinforcement

e ol vl
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Options :
1.1
2.2
3.3
4.4
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Which of the following is NOT a concept from language education?

1. critical period hypothesis
2. comprehensible input

3. brain lesion and control
4. positive reinforcement

Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 8247244612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recognizes

I. ‘multilingualism and the power of languages’ as essential for learning in school.

2. English as medium of instruction at the primary stage of schooling for upward mobility.
3. All language learning needs to be in the mother tongue only.

4. Children should learn many languages as per their choices.

Options :
1.1
2.2
3.3

4.4

Question Number : 142 Question Id : 8247244612 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

National Education Policy 2020 recognizes

I. ‘multilingualism and the power of languages’ as essential for learning in school.

2. English as medium of instruction at the primary stage of schooling for upward mobility.
3. All language learning needs to be in the mother tongue only.

4. Children should learn many languages as per their choices.



Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247244613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Finally’, “moreover’, ‘in addition to’ and ‘besides’ are examples of

Cohesive devices
Cohesion
Vocabulary
Grammar areas

W -

P

Options :
1.1
2.2
3.3
4.4

Question Number : 143 Question Id : 8247244613 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Finally’, “moreover’, ‘in addition to’ and ‘besides’ are examples of

Cohesive devices
Cohesion
Vocabulary
Grammar areas

W -

P

Options :
1.1
2.2
3.3



4.4

Question Number : 144 Question Id : 8247244614 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

“Do we know exactly where the action takes place?” This question is

checking factual reading.
checking inferential reading.
eliciting information.

checking a vocabulary concept.

o bad e

o

Options:
1.1
2.2
3.3
4.4
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“Do we know exactly where the action takes place?” This question is

checking factual reading.
checking inferential reading.
eliciting information.

checking a vocabulary concept.

ialecbud e

e

Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247244615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No



Correct Marks : 1 Wrong Marks : 0

Which of the following is an illustration of assessment for learning?

Annual examination
Midterm test
Portfolio

Weekly assignment

e v
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Options :
1.1
2.2
3.3
4.4

Question Number : 145 Question Id : 8247244615 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Which of the following is an illustration of assessment for learning?

Annual examination
Midterm test
Portfolio

Weekly assignment

s vl

e

Options:
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247244616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0



‘Blended learning’ is

1. A combination of grammar translation method and communicative language teaching,
2. using a combination of two apps for language teaching.

3. learning two languages in the same class.

4. a combination of traditional learning and web-based online approach.

Options :
1.1
2.2
3.3
4.4

Question Number : 146 Question Id : 8247244616 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Blended learning’ is

A combination of grammar translation method and communicative language teaching.
using a combination of two apps for language teaching.

learning two languages in the same class.

a combination of traditional learning and web-based online approach.

oW =

Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247244617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Language awareness’

has cognitive advantages.

is a disadvantage.

is knowing the grammar of a language.
is a prescriptive concept.

W -

P



Options :
1.1
2.2
3.3
4.4

Question Number : 147 Question Id : 8247244617 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

‘Language awareness’

has cognitive advantages.

is a disadvantage.

is knowing the grammar of a language.
is a prescriptive concept.

L d

P

Options :
1.1
2.2
3.3
4.4

Question Number : 148 Question Id : 8247244618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Input hypothesis proposes that linguistic input that is the current stage of linguistic competence is ideal
for maximizing learning outcomes.

. ong step behind
. ong step beyond
way ahead of

. parallel to

P el b —

Options :
1.1
2.2
3.3
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Question Number : 148 Question Id : 8247244618 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Input hypothesis proposes that linguistic input that is the current stage of linguistic competence is ideal
for maximizing learning outcomes.

. ong step behind
. ong step beyond
way ahead of

. parallel to

P el b —

Options :
1.1
2.2
3.3
4.4

Question Number : 149 Question Id : 8247244619 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism is

every learners begin her schooling in her mother tongue and move on to study in English medium in school.
all schools teacher teach through the medium of the mother tongue or home language.

every learner begins her schooling in her mother tongue / home language and moves on to add many more
languages in school.

4. all school teach through the medium of English to cater to the demand of parents.

b

Options:
1.1
2.2
3.3
4.4
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Correct Marks : 1 Wrong Marks : 0

Mother tongue based multilingualism is

every learners begin her schooling in her mother tongue and move on to study in English medium in school.
all schools teacher teach through the medium of the mother tongue or home language.

every learner begins her schooling in her mother tongue / home language and moves on to add many more
languages in school.

4. all school teach through the medium of English to cater to the demand of parents.

b

Options :
1.1
2.2
3.3
4.4

Question Number : 150 Question Id : 8247244620 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following conversation.
A: Twant all students with letter A to stand here and all students with letter B to stand there. Do you understand?

Students: (Silence)
One Student: Yes (very quietly)
Students are refuctant to answer. Which of the following reasons does NOT fit?

L. Students lack confidence.

2. Students did not understand the instructions.

3. Students prefer not to talk.

4. Students need more elaborate instructions and support from the teacher.

Options :
1.1
2.2
3.3
4.4
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Is Question Mandatory : No

Correct Marks : 1 Wrong Marks : 0

Read the following conversation.
A: Twant all students with letter A to stand here and all students with letter B to stand there. Do you understand?

Students: (Silence)
One Student: Yes (very quietly)
Students are reluctant to answer. Which of the following reasons does NOT fit?

1. Students lack confidence.

2. Students did not understand the instructions.

3. Students prefer not to talk.

4. Students need more elaborate Instructions and support from the teacher.

Options:
1.1
2.2
3.3
4.4



